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Step 4 Mixed Worded Problems

Jennie has seven £10 notes
In her savings. How much
money does she have
altogether?

Claire has 9 building blocks. Each
block is 2 cm long. If she lays
them end to end to build a wall,
how long will the wall be?

Tom has some coins in his
pocket. He has a 2p, a 5p and
a 10p. How much money does
he have altogether?

Katie has a box of dominoes.
Each domino is 5cm long. If she
lays 6 of them end to end, how
long will her domino track be?

There are 7 days in one week.
How many days are there in two
weeks?

David was counting the lamp
posts that he walked past. On the
first street, there were 7. On the
second street, there were 12. On
the final street, there were 6. How
many did he count altogether?

George timed 50 minutes on a
clock. Every 5 minutes, he put a
conker in a jar. How many conkers
were in the jar when the time
ran out?

How many toes do eight
children have altogether?

There are 3 wheels on a tricycle.
How many wheels would there be
on 5 tricycles?

Rachel had £35 in her purse.
She spent £20. How much
did she have left?
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